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Note : (i) Question No. 1 is compulsory. 

(ii) Attempt any four questions from question No. 2 to 7. 

1. a) Fill in the blanks with the appropriate words given 
in the parentheses. 	 5 

i) 	 is study of ecology of an individual 
in relation to the environment. 

(Habitat Ecology / Autecology) 

ii) 	 is the rate at which individuals of a 
population emigrate or migrate from an area. 

(Diversity / Dispersal) 

iii) 	 measures the intensity of light. 

(Radiometer / Photometer) 

iv) The temperature decreases with increasing 	 

(latitude / altitude) 

v) 	control body temperature to a considerable 
range by behavioural means. 

(Exotherms / Endotherms) 
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b) State whether the given statements are True (T) or 
False (F). 	 3 
i) Troposphere is the upper most layer extending 

upto an altitude of 15km at the equator. 
ii) Condensation is the process by which solid 

water changes directly to vapour phase 
without passing through liquid phase. 

iii) Mesophytes grow in moist habitats and well-
aerated soils. 

iv) Most aquatic animals excrete the extra amount 
of water from the body by osmoregulation. 

v) Chemical forces acting upon the rocks cause 
physical weathering. 

vi) The rural environment is a product of man's 
own design. 

c) Define the following. 	 2 
i) Sublimation 
ii) Food web 

2. a) Describe the various aquatic adaptations in plants. 
5 

b) Explain the adaptations in animals to different light 
conditions and extremes of temperature. 	5 

3. What are Ecological Pyramids? Describe different kinds 
of ecological pyramids and their limitations. 2+6+2=10 

4. a) Discuss thermal stratification of lake ecosystem. 5 

b) Differentiate between oligotrophic and eutrophic 
lake. 	 5 
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5. Describe the different synthetic characters used to study 
a biotic community. 	 10 

6. a) Explain the various meteorological factors 
responsible for causing air pollution. 	 5 

b) Discuss the various devices used to control air 
pollution. 	 5 

7. Write short notes on any two of the following. 2x5=10 

a) Importance of conserving wildlife 

b) Carrying capacity 

c) Hydrarch 

d) Deserts 

4 .04+44 
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